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Write your rol} aumber in the space provided on the iop
of this page. . . A
This paper consists of sixty (60) multiple-choice type
questions, out of which the cangidate would be required
to answer any fifly (50) questions. In the event of the
candidate attempting more than ﬁiga;[u_estions,the first
fifty questions attempted by the didate would be
cvaluated.

At the ement of fon, the question

pookelt will be given to you. In the first § minutes, you

are requested to open the booklet and compulserily

examine it as below : .

(i} To have nccess to the Question Booklet, tear off the
paper seal on the edge of this cover page, Do not
accept & booklet without sticker-seal and do not
accept an open bookelt.

{ii) Tally the number of pages and number of questions

in the beokiet with the information printed on the

- covey page. Faut booklets due to pages/questions
wmissing or duplicate or not in serial ofder or any
other discrepancy shouid be got replaced
immediately by & correct booklet from the
invigilator within the period of 5 minutes.
Afterwards, neither the Question Booklet will be
repleced nor any extra thine will be given.

(iify Afer this verification is over, the Test Booklet
Code shouid be entered in the OMR Sheet and the
OM%Sheet Number should be entered on this Test
Bookiet,

Fach item has four alternative responses market (A}, (B),

(C? and (D)), You have to darken the oval as indicated

below on the correct response against each item. -

Example :

where (C) Is the correct response.

You responses to the Hems are to be indicated in the
Answer Sheet given inside this Booklet, which is
common for Paper 1 and Paper 11, If you mark at an
piace other than in the ovals in the Answer Sheet. [t will
not be evatuated. :

Read instructions given inside carefully, |

Rough Work is to be done in the end of this booklet.

It you write your Name, Roll Number, Phone Number
or pul any Teark on any part of the Answer Sheet, except

for the space atlotied for the relevant entries, which may

diselase your identity, or use abusive language or empley
any other unfair means, you witl render yourself liable
1o disqualification.

You have 1o return the test question booklet and OMR
Answer sheet to thi invigitators at the end of the
examination compulsorily and must net carry it with you
ourside the Examination Hall,

Use only Blue/Black Ball point pen. -

Use of any calculator or log table etc., is prohibited.
There is no negative marks for incorrect answers.

™o

Signature and Name of Invigilator OMR Sheet No. :
1. {Signatre) (To be filled by the candidate)
(Name) Roll No. " ]
2. (Signanis) HEENERRNE
Name) ' {In Figawes as-per admission card)
Roll No.
. (I words)
Time : 1% Hoursl - Maximum Marks : 100
Number of Pages in this Booklet : 16 "Number of Questions in this Bookelet : 60
Instructions for the Candidates ittt & fore Frder
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2.

Paper-I
. proves| )
Note: » This paper contains sixty (60) multiple choice questions, each question carries two (2) marks.
s Candidate is expected to answer any fifty (50) questions.

+ [n case more than 50 questions are attempted, only the first 50 questions will be évalaated.

o T TETE T W (60) FEfamed wi ¥ (e v 9 (2) o
o el W 0 TE (50) T SRR §

Learning is dependent montly on .........
(A) Motivation to learn

{B} Regular attendance

{C) Ability to memoyize

(D) High intellegence level

Which one is different from the rest
three

{A) Orange

{B) Banana

{C) Fruit

(D) Apple

Which is the most effective method to

contral noise in a classroom :

(A) Continue teaching the class

(B) Saying "dont" talk
{C) Remaining calm and just looking at
students

(D} Raising your voice above the

students voice
if CENTRAL has been coded as

CXVMGIZO, what will be the correct

code for PHYSICS 7
(A) HXBHKRX
(B) KSBRHHYX
(C) HXRHSBK
(D) KSBHKXM
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(A} e =) o w
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4, = CENTRAL % XVMGIZO # e et

st & & PHYSICS =1 wdt s 511 €n?
(A) HXBHKRX
(B) KSBRHHX
(C) HXRHSBK.
(D) KSBHKXM
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The quality of research is judged by the:

(A) Depth of the research

B) Relevance of research

(C) Experience c;f.the researcher

(I} Methodology
conducting the research

followed in

Which of the following is not correct :
(A) Reséarch without hypothesis

{B) Research is not always systematic
{C) Any person can do research

(D)) Research requires i{ibrary facilities
A good researcher must possess :

{A) Enough funds

(B). A Master's degree

(C) An enquiry mind

(D)) A good health

Which of the following will come next
in the series given below :

BHL, DIM, FLP ?

(AYHOS

{B) HNR

{Cy INR

(D) HOR

-§-12. In the following figure, the circle stands

for medicate students, the square stands
for hardworking, the friangle stands for
rural and rectangle stands for affluents.
Study the figure carefully and for
answering the question that follow
pickout the Arabic mumerial asgociated

with the region :
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BHL, DIM, FLP 7
(AYHOS
(B) HNR

(C) INR

(D) HOR
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9.

10.

11,

12.

Medical students who are affluent,
hardworking and rural arc represented
by the region :

(A) 06

(B) 09

(C) 08

Dy 1o

Hardworking, non-affluent rural medical
students are represented by the region :
A7

(B) 5

()8

M) 10

Non-rural and hardworking medical
students who are affluent, indicated by
the region : :

(AY7

(B) 9

(Cy 10

D)5

Medical students who are neither
affluent nor hardworking but are rural,
shown by the region :

(A) 10

By 11

(Cy 12

s
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(B) 5

(©) 8
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13.

14.

15,

Which of the following statements

define education best ?

(A} Education  imparts  useful
knowledge.

(B) It prepares autonomous human
beings.

{C) Education is a means of social
change.

(D)H generat;f:s lot of employment.

It is said that teachers must enable

students 10 own the responsibility for

learning. This means teachers :

(A} have reduced responsibility of
learning.

(B} ask students to study on tﬁeir own,

(C) must help students to evolve one’s
own ways of learning.

(D} assign learning tasks to students.

Artange the following from the least

difficult to most difficult

(1) Teaching of processes

(2) Teaching of values

(3) Teaching of concepts

{4) Teaching of thinking skill

A MG, B.@

By (2. 4, (3) (1)
€ (13.3) 2.4
Oy, Eh G
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(B) =8 7 o ey el §
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%71 W T 0w wel wfge
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(13 hemsh 3w

@ sEA= T
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(4) BOR wE  FI e

(AJ (1, 3), . (2

(B) (2), (4), (33, (1}

(©) (1. (3), (). (4)

D) (1@, 3 &H



16.

17.

18.

19,

20.

To ensure quality maintenance in
universities and colleges, guidelines
prepared by the ... at the national
level :
{A) National council for Educational
Research and Training (NCERT)
(B} National Institute of Advanced
Study (NIAS)
{C) National
Accreditation Committee (NAAC)
(D) University Grants Commission
(UGC)
A condition or characteristic that can
take on different values or categories is
called:

" (A) a constant

(B) a variable

(C) a cause and effect relationship

(D) a descriptive relationship

Which of the following is not the
example of qualitative research 7

(A} Case study

(B) Ethonography

{C) Content analysis

{D) Pretest-Posttest experiment
Communication is a network of :

{A) Interactions ’

(B) Messages

(C) Receivers and senders

(D) Information

Which one of the following is not a
bartier to communication :

(A) Culture

(B) Altitude

(C) Noise

{1} Job satisfaction

P.C-00-GPTRA-1/4200
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21,

22.

23

24,

26.

Find the odd number out 8, 9, 64, 125,
216,49 ;

(A) 49

(B) 64

(€) 216

(D) 125

Find the missing number 95, 87, 80, 74,
69, werenens ?

(D) 48
Which is the missing number in the
following series ?

36, 54, 128, ........ . 432

(A) 162

- (B) 416

(€) 250 .

(D) 256

The gas leaked during Bhog:al disaster
was

{A) Methyl disocyante

(B) Ethyl cynanoacetate -

(C) Methyl isocyanate

(D) Ethyl cyanoacetate

. The audible range of frequency for

human ear in ...........

{(A) 10 Hz to 30 KHz

(B) 10 Hz to 20 KHz"

(C) 20 Hz 10 20 KHz _

(B) 10 Hz to 10 KHz : :
if waste material contaminate the source
of drinking water, which of the
following diseases wiil spread ?

{A) Anaemia

{B) Typhoid

{C) Scurvy

(D) Malaria

RC.—GO-GPTRA—IMZ(}Q

21.

22.

23.

24,

25,

26.

8,9, 64, 125, 216 2R 49 # & Fram dem
TR

(A) 49

(B) 64

(C) 216

) 125

Profafem ¥ | e ) vewitE 05,
87.80, 74,69, ......... ?

(A) 49

(8) 59

(C) 63

(D) 48 ‘
Frfafaa wa ¥ woe des S #7
36,54, 128, ......... , 432

(A) 162

(B} 416

(©) 250

(D) 256
sirorer T 3 S R el 1 s o
(A) freger Br-seiaTE

(B) 3uret wismE

(C) Toursa smesirTee

(D) 3ot wrshsies
T wof i we T # Sty e

{A) 10 Hzto 30 KHz
{B) 10 Hzto 20 KHz
(C) 20 Hz to 20 KHz

(D) 10 Hz to 10 KHz
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27.

28

29.

36,

31.

If 3 of a number is equal to % of
another number, what is the ratio
between these two numbers ?

{(Ay5:3

By 15:4

(Cy4:3

N34

A 200 x 14" wall is to be painted leaving
out 2 window on it measuring 7' x 4'. If
the rate of painting is Rs.1( per square
feet, what will be the cost of painting?
{A) Rs. 2800

(B) Rs. 3080

{C) Rs. 2520

(D) Rs. 2828

T want to distribute Rs. 600 amongst
Priya, Kanu and Geeta. If Priya receives

1 of the total amount and Kanu

receives ¥ of the total amount, what
amount Geeta will receive ? '
(AY 100
(B) 400
() 300

(D) 200

M is the son of P. P and § are brothers.
T is the mother of S. V is the daughter
of 8. Select the correct statement ©

(A) § is the uncle of M

(B) Tis grand mother of §

(C) P is the sister of 5

(1)) M and S are brothers

What is the state of mercury ?

{A) Compound

{B) Non-Metal

(C) Metal

(D) Semi-Conductor

P.C.-00-GPTRA-I/4260
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28.
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(A)5:3
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D)3:4

w200 x 14" 0 Fan W, w7 % 4
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(A) Rs. 2800

(B) Rs. 3080

{C) Rs. 2520

(D) Rs. 2828 :

# R, & #ivC i § &, 600 wiEw e E )
7 fiy o wet ot ) € ¥ el
T @ g o Y, W e E
w7 fomerdt ol wis gl

{A) 100

(B) 400

(C) 500

{D) 200
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32

33

34,

35,

36.

37.

Which physical quantity has a unit kilo-

: w;:ztt hour ?-
' {A) Power

(B} Force
(C) Energy

‘(1)) Momentum

What is the use of Naphtha ?

. (A} Chemical in plant

(B) Energy

(C) Solvent for Biochemical

(D) Solvent for petrochemical
Economic liberalization in India was
initiated by : '

{A) Rajiv Gandhi

{B) V. P. Singh

{C) Atal Bihari Bajpayee

(D) Dr. Manmohan Singh

Bank nationalization and abolition of
Privy purses was initiated by :

(A) Indira Gandhi

{B) Rajiv Gandhi

{C) Jawaharlal Nehru

(D) Lal Bahadur Shastri

Find the odd one out of the following :
(A) Truthful

(B) Sly

+{C} Virtuous

(D) Persive

Select from the following group, that
does not belong to the group :

(A) Copper

{B) Iron

{C) Steel

(D) Tin

P.C.-00-GPTRA-1/4200
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38.

39.

40.

41,

In a college level instruction, the

pm“posé of selective admission is to

(A) Debar those who may create
problem to the lecturer.

(B} Ensure equality andjustice.

(C) Screen those who can benefit from
higher education.

(D) Increase the revenue of the college.

During classroom -teaching interactive

sessions should be encouraged because !

(A) Teachers' job becomes less

‘ challanging during such sessions.

(B) Teaching is not every body's cup of
ted.

(C) Stusdents envolvement is enchanced.

(D) Students should be given some
breathing time to leam.

In reporting research findings the main

purpose should beto :

(A) Highlight the factual position

(B} Help other researchers

{C) Attract the public attention

{D) Mest the sponsorers's expectatioﬁs

In artiving at knowledge through the '

method of research which of the
following combination is most
appropriate

(A) Authority + Inductive rezsoning
(B) Creativity + Deductive reasoning
(C) Inductive + Deductive reas‘ening

(D) Experience + Deductive reasoning

P.C.A00-GPTRA-1/4200
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42,

43,

Democracy is practiced where :
{A) Representative of masses

"(B) Elected members form a uniform

opinion regarding policy mattey

-€C) Opposition is more powerfull than

. the rulling combine
(D)} None of these
Protocol is used t0o communicate
between :

(A} Similar module

(B) Dissimilar modunle
(C) Both (A) and (B)

(D) None of these

44,

45,

‘Data transfer rate of LAN is normally 9

{AY 1-10 mbps

" (B} 1-2 mbps

(C) 1-100 mbps

(D) None of these .
Which ' of the following are WAN
devices ? :

" (A} Bridgs

46.

(B) Gateway

(C) Koutes

{D) All of above

Which of the following IGNOU does

not prescribe 7

(A) Strict combination of courses of

study

{B) Flexibility to eligibility for

. enrolment ’

- {C) Relaxation to age of entry

47.

(D) Flexibility to methods of evafuation
The law of probability is applied in:

_ (A) Random sampling

(B) Quota sampling
(C) Convenient sampling

(D) Purposive sampling

~ RC-00-GPTRA-1/4200
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48.

49,

50.

51,

If a researcher wants fo study the
performance of university teachers by
students which fool will be most
appropriate 7

(A) Interview

(B) Rating scale

(C) Observation schedule

(D) Qustionnaire

A speech that is outlined, practiced and
delivered in a conversation style is

(A) Hat speech

(B} Indirect speech

{C) Extermnporaneous

(D) Manuscripted

A student in speaking fast with irregular
rhythim and long breaks in between. This
indicates :

(A) Exciternent

(B) Nervousness

(C) Frustation

(1) Sense of purpose )
Complete the sequence of squares by
choosing the correct figure from the
given alternatives :

[t B EAAERY) BAA U]

IADD
A IAVAYAN
A DND

75 2N
LoV
B)iAAAn
AL

AN
N A YL Wa
(CYy IAaa

AL

AVAVAN
fAYAVAY
®) AL L
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52.

54.

Put the correct letter for '? in the

following diagram :

DA Q
(GINO
(A)H

(B) L
P

(DM

Put the number in the empty box by
choosing the correct digit from the given

alternatives :
T3
5 7
8

A9

B35

)6

3

Numbers are placed in the following
figure on the basis of some rules. One
place is vacant which is indicated as (7).
Find the correct alternative for vacant
place ?

) 640 0

(A2

(B) 3

@9

Dy7
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52.

53.

54.

573 el P, 2 3 forg et e o«
(r)

BIVANG,
YVANGD,

{AYH
By L
{yP
(MM .
fy ) freedl ® & ol w5 ey wndl
e (wer) v 9 . :
7136
5147
g |2
(A9
B s
© 6
(D)3
N 4 1 sl § 9 o el %
WURTT 9 T & we e Tl ()
W W G v ¥, weEl wE ¥ R wd

(A)2
(B) 3
©9
D7



55-58 : Read the following passage and

indicate the correct answers for the
questions 55 to 58:

Both plants and animals of many sorts
show remarkable changes in form,
structure, growth habits, and even mode
of reproduction in becoming adapted to
different climatic environment, types of
food supply, or mode of living. This
divergence in response to evolution is
commonly expressed by altering the
form and function of some part or parts
of the organism, the original identity of
which is clearly discernible, For
example, the creeping foot of the snail
is seen in related marine pteropeds to be
modified into a flapping organ useful for
swimming, and is changed into
prehensile arms that bear suctorial disks
in the squids and other cephalopods. The
limbs of varicus mammals are modified
according to several different modes of
life-for swift nmning {cursorial) as in the
horse and antelope, for swinging in trees
{arboreal) as in the monkeys, for digging
{fossorial) as in the moles and gophers,
for flying (volant) as in the bats, for
swimming {aguatic) as in the seals,
whales and dolphins, and for other
adaptations. The structures or organs that
show main change in connection with
this adaptive divergence are commonly
identified readily as homologous, in
spite of great alterations. Thus, the finger
and wristbones of a bat and whale, for
instance, have virtually nothing in
common except that they are definitely
equivalent elements of the mammalian
limb.
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55.

56.

57,
" best substituted for 'homologous'

58.

59,

60,

Which of the following is the most
appropriate title for the passage, based
on its content :

(A) Addaptive Divergence

(B) Our changing Bodies

(C) Evoluation

- 4D} Changes in organs

The author provides information that
would answer which of the following

questions : -

(1) What factors cause change in

organism ?

(2) What is the theory of evolution ?
(3) How are horses legs related to real's
. flippers ?

{A) 1 only

{B) 1 and 2 only

(C) 1 and 3 only

(D) 2 only

Which of the following words would be

without subtantially changing the
authors meaning ?

(A) Altered

{B) Divergent

(C) Corresponding

(1) Mammalian

The author style can best be described
as:

(A) Objective

(B) Patronizing

{C) Humorous

(D) Eroteric

Which of the following is an analogous
statement :

(A) God is great,

{B) Man is like God.

{C) Man is a rational being. )
{D) Gandhiji is the father of the Nation.
Which of the following sources of India
is not based on primary data collection
(A) National sample survey .

(B) Census of India

(C) National Family Health Survey

(D) Statistical Abstracts of India
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55.

57.

58,

59,

66,

Srgie & gag faw & VR W, T SE F
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(B) =l w5e 5T v

(C) formry
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(1) =7 @ e shte 1§ ggere w8 ¥
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 (B) yoeson
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(B) ward = gy ey ae
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